Program	No. 877-S Term Date of Award To June 30, 3	2007				
	SHORT-RUN, FAST TURNAROUND					
	BLACK/COLOR DUPLCATING/COPYING					
			GRAY	GRAPHICS	MINUTE	MAN PRESS
		BASIS OF	Capitol	Heights, MD	Wash	ington, DC
ITEM NO.	DESCRIPTION	AWARD	UNIT RATE	COST	UNIT RATE	COST
I.	DIGITAL SERVICES:					
(a)	Consultationper order	15	200.00	3,000.00	No Charge	0.00
(b)	Converting electronic files to PDFper file	30	25.00			540.00
(c)	Artwork clean-up/Print preparation separate from					
. /	basic preflightper hour	15	85.00	1,275.00	72.00	1,080.00
(d)	Design and Layout System Timeworkper hour	10	85.00			960.00
X-7		-				
II.	DUPLICATIONG/COPYING:					
1.	Text and Covers Running Per 100 Leaves					
(a)	Leaves duplicated one side only in black					
(1)	8-1/2 x 11"	497	4.00	1,988.00	3.50	1,739.50
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	159	8.00	,		874.50
(b)	Leaves duplicated face and back in black			-,		
(1)	8-1/2 x 11"	1,551	6.00	9.306.00	6.75	10.469.25
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	84	10.00			1,092.00
(C)	Leaves duplicated one side only in color	01	10.00	0-10.00	10.00	1,002.00
(1)	8-1/2 x 11"	300	35.00	10,500.00	24.00	7,200.00
(1)	Over 8-1/2 x 11" up to and including 17 x 11"	501	70.00			19,539.00
(d)	Leaves duplicated face and back in color	001	70.00	33,070.00	00.00	13,003.00
(u) (1)	8-1/2 x 11"	330	55.00	18,150.00	48.00	15,840.00
(1)	Over 8-1/2 x 11" up to and including 17 x 11"	78	110.00	,	78.00	6,084.00
(2)	Fold-ins (17 x 11")	10	110.00	0,500.00	78.00	0,004.00
	Fold-ins (17 x 11) Fold-ins duplicated one side only in black					
(a)		12	12.00	456.00	17.50	240.00
(h)		12	13.00	156.00	17.50	210.00
(b)	Fold-ins duplicated face and back in black	9	18.00	162.00	25.00	225.00
(-)		9	18.00	162.00	25.00	225.00
(c)	Fold-ins duplicated one side only in color	27	05.00	0.005.00	54.00	4 077 00
(-1)		21	85.00	2,295.00	51.00	1,377.00
(d)	Fold-ins duplicated face and back in color	0	405.00	750.00	00.00	5 4 0 0 0
0		6	125.00	750.00	90.00	540.00
3.	Tab Dividers					
(a)	Tab dividers duplicated face only in black, without					
(1.)	mylar reinforcement on tabsper 100 dividers	18	60.00	1,080.00	44.00	792.00
(b)	Tab dividers duplicated face only in black, with	07	400.00	0 700 00	10.00	4 000 00
	mylar reinforcement on tabsper 100 dividers	27	100.00	2,700.00	49.00	1,323.00
4.	CD Insert/Inlay Cards	400				
(a)	Leaves duplicated one side only in blackper leaf	120	0.25			46.80
(b)	Leaves duplicated face/back in blackper leaf	225	0.35			99.00
(c)	Leaves duplicated one side only in colorper leaf	120	0.65			82.80
(d)	Leaves duplicated face/back in colorper leaf	225	1.00	225.00	0.99	222.75
III.	BINDING:					
(a)	Stitching with 1 stitch in upper left cornerp/copy	1,890	0.10	189.00	No Charge	0.00
(b)	Side-stitching with 2 stitchesper copy	,	0.20		No Charge	0.00
(C)	Saddle-stitching:	.,	0.20	201.00	. ie enarge	0.00
1.	8-1/2 x 11"per copy	660	0.10	66.00	0.06	39.60
2.	Over 8-1/2 x 11" up to & including 11 x 17" p/copy	150	0.10			9.00
۷.		100	0.20	00.00	0.00	3.00
		1				
				+		

	No. 877-S Term Date of Award To April 30, 2	2007				
-	SHORT-RUN, FAST TURNAROUND					
	BLACK/COLOR DUPLCATING/COPYING					-
			GRAY	GRAPHICS	MINUTEM	AN PRESS
		BASIS OF	-	Heights, MD	_	gton, DC
TEM NO.	DESCRIPTION	AWARD	UNIT RATE		UNIT RATE	COST
II.	BINDING:	7.007.00		0001	ONTRACE	
(d)	Perfect-binding:					
1.	8-1/2 x 11"per copy	390	1.50	585.00	1.49	581.1
2.	Over 8-1/2 x 11" up to & including 11 x 17" p/copy	120	2.50		1.74	208.8
(e)	Comb-binding (including punching)	120	2.00	500.00	1.74	200.0
<u>(e)</u> 1.	8-1/2 x 11"per copy	900	1.50	1.350.00	1.25	1.125.0
2.	Over 8-1/2 x 11" up to & including 11 x 17" p/copy	150	2.50	,	1.25	225.0
		150	2.50	375.00	1.50	225.0
(f)	Plastic Coil binding (including punching)	200	4 50	450.00	4.50	450.6
1.	8-1/2 x 11"per copy	300	1.50		1.50	450.0
2.	Over 8-1/2 x 11" up to & including 11 x 17" p/copy	180	2.50		1.75	315.0
(g)	Tape bindingper copy		2.00	480.00	2.00	480.0
(h)	Binders (3-ring) Must include cost of inserting page					
1.	White/Black 1"per binder		2.50		2.95	663.7
2.	White/Black 2"per binder		3.50	1	5.75	2,156.2
(i)	Drillingper 100 leaves		0.05		0.45	827.5
(j)	Laminatingper 100 leaves	3	40.00		125.00	375.0
(k)	Inserting furnished preprinted materialsp/100 lvs	102	1.00	102.00	0.25	25.5
(I)	Trimmingper cop	60	No Charge	0.00	0.15	9.0
(m)	Inserting colored slip sheets (includes paper)					
	per 100 leaves	6	10.00	60.00	8.00	48.0
(n)	Shrink-film wrappingper packag	1,650	0.25	412.50	0.06	99.0
	·····					
۷.	PAPER: Per 100 Leaves					
1.	Text/Covers/Fold-ins					
(a)	White Offset Book, 50-lb					
(1)	8-1/2 x 11"	177	0.55	97.35	No Charge	0.0
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	129	0.90		No Charge	0.0
(b)	White Litho (Gloss) Coated Book, 70-lb	120	0.00		no onarge	0.0
(1)	8-1/2 x 11"	72	1.10	79.20	2.50	180.0
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	45	1.10		5.00	225.0
(c)	White Matte Coated Offset Book, 70-I	40	1.00	01.00	5.00	225.0
(1)	8-1/2 x 11"	87	1.20	104.40	2.50	217.5
()		42				217.5
(2)	Over 8-1/2 x 11" up to and including 17 x 11" White Matte Coated Offset Book, 80-lb	42	2.00	84.00	5.00	210.0
(d)	8-1/2 x 11"	AE	4.00	E0 50	0.75	400 -
(1)		45	1.30		2.75	123.7
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	27	2.20	59.40	5.50	148.5
(e)	Colored Writing, 20-lb					
(1)	8-1/2 x 11"	384	0.75		1.50	576.0
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	6	1.25	7.50	3.00	18.0
(f)	White Index, 110-lb					
(1)	8-1/2 x 11"	30	3.00		3.00	90.0
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	3	5.50	16.50	6.00	18.0

D	No. 977 & Term Date of Award To Annil 20	007				
	No. 877-S Term Date of Award To April 30, 2	2007				
Title:	SHORT-RUN, FAST TURNAROUND					
	BLACK/COLOR DUPLCATING/COPYING					
				GRAPHICS	-	IAN PRESS
		BASIS OF		Heights, MD		ngton, DC
ITEM NO.	DESCRIPTION	AWARD	UNIT RATE	COST	UNIT RATE	COST
IV.	PAPER: Per 100 Leaves					
1.	Text/Covers/Fold-ins					
(g)	Colored Index, 110-lb				0.05	
(1)	8-1/2 x 11"	3	3.25	9.75		9.75
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	3	6.00	18.00	6.50	19.50
(h)	White Litho (Gloss) Coated Cover, 80-lb	-				
(1)	8-1/2 x 11"	3	4.50	13.50		18.00
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	6	8.50	51.00	12.00	72.00
(i)	White Matte Coated Cover, 80-lb					
(1)	8-1/2 x 11"	6	5.00	30.00		36.00
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	6	9.00	54.00	12.00	72.00
(j)	White Plain Copier, Xerographic (Archival Quality)					
	20-lb					
(1)	8-1/2 x 11"	825	0.65	536.25		4,125.00
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	12	1.20	14.40	10.00	120.00
(k)	White Plain Copier, Xerographic, Laser Printer					
	28-lb					
(1)	8-1/2 x 11"	1,035	0.75	776.25	2.50	2,587.50
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	645	1.30	838.50	5.00	3,225.00
(I)	Transparencies (clear film acetate polyester					
	or similar					
(1)	8-1/2 x 11"	8	100.00	800.00	25.00	200.00
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	4	150.00	600.00	50.00	200.00
(m)	Clear mylar or vinyl					
(1)	8-1/2 x 11"	3	125.00	375.00	30.00	90.00
(2)	Over 8-1/2 x 11" up to and including 17 x 11"	2	175.00	350.00	60.00	120.00
2.	Tab Dividers					
	White Index, 110-lbper 100 leave	45	3.00	135.00	10.50	472.50
3.	CD Insert/Inlay Cards					
(a)	White Offset Book, 80-lbper leaf	120	0.70	84.00	No Charge	0.00
(b)	White Litho Coated Book, 70-lbper leaf	120	1.30		No Charge	0.00
(c)	White Index, 110-lbper leaf	450	3.00		No Charge	0.00
. /						
v.	CD DUPLICATION, LABELING & PACKAGING:					
(a)	CD duplicationper disc	795	2.00	1,590.00	1.25	993.75
(b)	Printing title on discper disc	525	0.50	262.50		1,023.75
(c)	Printing/applying title label to discper label	270	1.00	270.00		526.50
(d)	Single-disc jewel box including inserting disc					
1.1		345	1.00	345.00	0.95	327.75
		2.0		0.000	0.00	
		I	1	1		

Dreamon	No. 977 S Torma Data of Award To April 20	2007				
	No. 877-S Term Date of Award To April 30, SHORT-RUN, FAST TURNAROUND	2007				
nue.	BLACK/COLOR DUPLCATING/COPYING					
	BLACK/COLOR DUPLCATING/COPTING					
			GRAY GRAPHICS		MINUTEMAN PRESS	
		BASIS OF			Washington, DC	
ITEM NO.	DESCRIPTION		UNIT RATE		UNIT RATE	
۷.	CD DUPLICATION, LABELING & PACKAGING:					
(e)	White View Pak or equal including inserting disc					
	per View Pak	300	1.00	300.00	0.70	210.00
(f)	White Tyvek Sleeve or equal including inserting					
	discper sleeve	150	1.00	150.00	0.95	142.50
(g)	Inserting Insert/Inlay Cardsper insert/inlay card	690	0.25	172.50	0.15	103.50
	CONTRACTOR SUBTOTALS			\$116,669.80		\$94,475.90
	CONTRACTOR'S PAPER PRICE			\$7,273.60		\$13,174.00
	SUBTOTAL LESS PAPER			\$87,202.30		\$81,301.90
VI.	ACCELERATED SCHEDULE	40%		\$34,880.92		\$32,520.76
	PERCENTAGE INCREASE		10.00%	\$3,488.09	35.00%	\$11,382.27
				-		
	CONTR'S TOTALS + PERCENTAGE INCR			\$120,157.89		\$105,858.17
	DISCOUNT		1.00%	\$1,201.58	2.00%	\$2,117.16
	DISCOUNTED TOTALS			\$118,956.31		\$103,741.00
						AWARDED